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�	 Michaelis–Menten 4¼}~53Á®f�Yr/8À¥/"<oh!9<4149�2·
tf�3w%.À¥/"< 4 

 
�	 ���U/4IeMCaiAJl NH2OH 4Âef�5pn·t39;c¼$=<4#4
f�53�4��/½²&<#M!©:=.�<4(a) NH2OH + OH–  NH2O– + H2O
È¼�bÇ{³É3(b) NH2O– + O2 2 ¤�¢ + OH–È¾�s�f�É46*3`IeMCa

iAJl¡}@ Z M&<MÈZ = [NH2OH] + [NH2O–]É3Z 5R�f�¼}~ dZ/dt = –kappZ 
@�*&#M!? ,*4[OH–] @qe$'. kapp @�v%*M#>3YS4^!�:=
*4 

[OH–] (mol/L) 0.50 1.0 1.6 2.4 
kapp (s–1) 2.15110–4 2.83110–4 3.32110–4 3.54110–4 

(1) (a)4gi"Pyi"4¼}v�@(=)= kp, k–p, (b)4¼}v�@ k2 M&<4[NH2OH],  
[NH2O–] 3-�.(=)=¼}~@«.3dZ/dt, [NH2O–], [O2] 4Å]~@x"2$�4 
(2) (a)4{³v�@ K M%.3 [NH2O–] @ Z , [H2O], [OH–], K 4~/´%2$�4 
(3) (1)(2) 9;3kapp M k2 4Å]~@x"2$�4 
(4) ´4Gnc@¥�.3K 4^@×72$�4*+%3[O2] = RvÈ�R��[ÉM&<4 
 
�	 ��§4�²3-�.4 SIR hGi/53_¦@�*2�X S, ��%.�<X I, k�%
._¦@�,*XÈ6*5�t%*XÉR 3-�.3YS4Å]~@Zv&<4 

 dS
dt

= −rSI dI
dt
= rSI − aI dR

dt
= aI  

(1) #4��!°z·t¨/9<#M@¸�%2$�4 
(2) S + I + R = NÈRvÉ/9<#M@ª%2$�4 

(3) a
r
< S  4M"��5�s%3 I = N − R− a

r
 4M"�s3¿&<#M@ª%2$�4 

 
�	 9<f�! C39,.·t$=3(4f�¼}5 C3w%.R�/9<
M&<46*3C5��U/·t��@�*2�sÃ\ DM4Ä4{³3
2,.�;ÈglÉ3(4{³v�5 K = 2.01103 L mol–1 /9<4C4a�¡}([C]0)!  5.0
110–3 mol/L 4�4f�¼}@ v M&<M"3[C]0 = 1.0110–3 mol/L, 1.0110–2 mol/L 4
�4f�¼}@(=)= v /´%2$�4 
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